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SIASE @ 20234
Ol&txts - =8 2 3l
SIHFE ¢ SAZDFHDIS
OPN=EINE— CEEED
&= el = £ =

g = =g h JEH 52 N4 JIEA g2
g Al 194,489 181,483 13,006 194,489 181,483 13,006
& = = 0 0 67,000 12,000 55,000
e ES = 7,000 0 7,000 0 0 0
Xt | = 0 0 0 0 0
Col' x”2"e 0 0 0 0 0
He=a2=s+ 0 0 0 0 0
o X =2 & =+ 139,552 145,558 26,006 = 127,061 169,483 N42,422
o = = 0 Olnezacsas 0 0 0
or & & 1,937 1,925 R2lus32c34s 0 0 0
J H 2 46,000 34,000 12,000 = 428 0 428




SIHGAL -
Oll&tRb= © =&

SIHRE - S2AqZNEH|D|2
@ =g (crs): mg)
T.om-g-= so | Jmu | =2 TR
200 MI2I4gl 47,937 35,925 12,012
210 BAE M 2IAL 31,937 31,925 12
216 OIRt22l 1,937 1,925 12
216-01 BBOIZ0I X 1,987 1,925 12
OJI12&=E 2 OlAH 12
—&J|02
2 1,492,0008 -
I 1,480,0008 = 12
230 KILSHAHT - 22 16,000 4,000 12,000
234 WEHS 16,000 4,000 12,000
234-02 JIEFDIEH R 16,000 4,000 12,000
O=s&N= 8 MWElES
213 16,000,0008 -
I 4,000,0008! = 12,000
500 Bx2 7,000 0 7,000
520 Al - GHIBE2S 7,000 0 7,000
521 Al - SHIEXZS 7,000 0 7,000
521-01 Al - CHIEZ2S 7,000 0 7,000
02023 +=HE& 48 e X
KAAS
7,000,00024%14] = 7,000
700 BEASULYS 2N 139,552 145,558 6,006
710 EMAQE 139,552 145,558 6,006
714 0IXI25] 2 139,552 145,558 6,006
714-01 OIIXI=23|% 139,552 145,558 6,006
OUlxIZ al==
21 139,552,0008 —
I 145,558,0008 = 26,006
> 8 7 194,489 181,483 13,006




SIHHE 20234
Oll&tXb= + =& 2 3l
SAHTZ ¢ 2AZDFHIDIS

® XNEHE EERE)
EE .22 . FH. O - HRAY - HES NEY | JIE NEN | HDSZ
SAID 194,489 181,483 13,006
NHYEA 194,489 181,483 13,006
e e 67,000 12,000 55,000
S9l20e FHI(SABDFLDIZ) 67,000 12,000 55,000
L] 60,000 12,000 48,000
401 NAHIZSOY| 60,000 12,000 48,000
01 Al&l 48,000 60,000 12,000 48,000
O# 48 NFHNAIL B4 U &3
2 60,000,002 - JIF 12,000,0008! = 48,000
(T)84% S HES LAY 7,000 0 7,000
206 THE I 7,000 0 7,000
01 TMal 7,000 7,000 0 7,000
02023 #1849 HES XY A
7,000,00024%14] = 7,000
= 7,000]
HEES(ZAID 127,489 169,483 A41,994
2HNE(SAZDIHIIB) 127,489 169,483 141,994
SHXE 127,489 169,483 141,994
602 CIXIS 127,061 169,483 142,422
01 LeHoiXIS 142,422 127,061 169,483 N42,422
OUIXIZ A 127,061,008 - JIF 169,483,008 = 42,422
802 HEr20Ek 428 0 428
02 Al-CHEXZPEZ 428 428 0 428
O2021E HXIB40t LENAI 25
Al BTN 9 0|} B 427, 920R*14] = 428
s g 2 194,489 181,483 13,006




SIHAL 20234
Oll&tXb= + =& 2 3l

sPimE  =UBDHDIZ (el @)
x oo
=2 -

2=2 e mo2 | 2x= | ne= (gofff; 022 | 0Ix4e | JIErRe!
20174 DHX 14,334 0 0 0 0 0 1,244 13,090
20189 = 36,948 0 0 0 0 0 51 36,897
20199 & 34,822 0 0 0 0 0 383 34,439
20209 & 26,743 0 0 0 0 0 799 25,944
20219 = 31,110 0 0 0 0 0 535 30,575
20223 & 57,309 0 0 0 0 0 646 56,663
20239 &= 54,937 0 7,000 0 0 0 1,937 46,000

Al 256,203 0 7,000 0 0 0 5,595 243,608




3. o&" D124 A Xas st
SIHAHE 20234
OlARES - =H 2 3
SIHRE @ =2 NEHID|I=2 (S M)
X| &4 OH
= o b |
b o
A g H® HEaXAE | XHEAF | czegy | XSS | =2 J|EHKE @-0©
AFH| Ay 2 J|=3Hl | 2|2AE | 2l24atE
20174 DX 10,000 10,000 0 0 0 0 0 4,334
201898 & 5,000 5,000 0 0 0 0 0 31,948
20198 & 2,000 2,000 0 0 0 0 0 32,822
20209 &= 0 0 0 0 0 0 0 26,743
20219 & 9,290 9,290 0 0 0 0 0 21,820
2022E & 35,424 35,424 0 0 0 0 0 21,885
20238 & 67,428 67,000 0 0 0 0 428 A12,491
Al 129,142 128,714 0 0 0 0 428 127,061




e
=
Pl
I[N
He
=

eI
OIAERRE : Z
S| AIbJE=!
e OIX| % oijsros
PRIHCUHIY | 02HATUSHNU@ | 208HCLEHTHAO =2H(®-Q)
il 117,667 139,552 127,061 A12,491
Ol Xl= 117,667 139,552 127,061 A12,491
117,667 139,552 127,061 A12,491




